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FIGURE 6.19 The two error
probabilities for Example 6.32. The
probability of a Type | error (yellow
area) is the probability of rejecting
Ho: u = 22 when in fact p = 22.
The probability of a Type Il error

o

]

(blue area) is the probability of
accepting Hy when in fact
w=22.015.
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TYPE | AND TYPE Il ERRORS

If we reject H, (accept H,) when in fact Hj is true, this is a Type I error.
It we accept Hj (reject H,) when in fact H, is true, this is a Type II error.
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SAnCRIS Accept Hy Correct Type I
decision error
FIGURE 6.17 The two types of
error in testing hypotheses.
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based on
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FIGURE 6.18 The two types of i thfecﬁwptt f()fr_ect Type Il
error in the acceptance sampling eciston SEael

setting.

POWER AND TYPE il ERROR

The power of a fixed level test to detect a particular alternative is 1 minus

the probability of a Type II error for that alternative.
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SIGNIFICANCE AND TYPE | ERROR

ce level a of any fixed level
e probability t

The significan

Type I error. That is, « is th

hypothesis Ho when Hp is in fact true.

test is the probability of a
hat the test will reject the null

—




POWER

The probability that a fixed level « significance test will reject Hy when a
particular alternative value of the parameter is true is called the power

of the test to detect that alternative.
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FIGURE 6.15 The sampling
distributions of X when 1 = 0 and

Increase

Reject Hy

Power = 0.80

when u = 1. The power is the T T
probability that the test rejects Hj -2 -1
when the alternative is true.
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FIGURE 6.16 The power for
Example 6.30. Unlike Figure 6.15,

Reject Hy Fail to reject Hy R(wh\Hu
Power = 0.8159
e T i
. 6.0 6.5 7.0

only the sampling distribution L
under the alterntive is shown.



